PRHRI0FE AHMERIKR

EEI—F PBERHES B 8 ;B B ;B
404471 e ] Uk R StEHKX @S 3,100,000 P - HIRFTE 1
B NKES
IREHPKX IS EE 3,100,000 TEIERE (RTESESTD, ) 7,530
EREASESHAD H31.1.154) A . A 2,710 VN 0
T > R BRI 1,150,000 T 0
(SBBKICHDHDED) IR lEiﬁE
IRTEHEIKAD ov .
e s KL (5BEKCDDZED) 0 SRS 0
] % (& T = BRI . —
= 8 & B (35EKCNDBED) 0 BHREE S L
S m 465,323 REEBRAD 0 ETE 2
B TKES | EEEHIKER f’fiz:’](’g;m; NRE - DRAE
iz ot 2,790,393 REpARxAnE 0 SEBEY 0
BEE | 80 BN 0 e 2
=Y = n SHEEKICHDSED) J NS A
ERiE 2o . ] 2 HEIK MBS KD . NS — .
Ei] P (SBEKCHDBEND)
nES AT ut 219,442 e 0 Sl 2
i IR ESHIKNIR MBS ,}3EJL< R RIESEE
20t nt 227,000 REHKRISER 0 SEBEN 0
N P# b2l 374 D=Za=5+1 - SV RMBAD 0 RS 0
BEB% [Sp mpne — - : P————— o1 |zowo R .
SHEREEFT P bl 286 SHLEREENIEAD 1,722 AR VIR SEBSH 0
EBiER (HEA) m 33,120 THEIAY T7 S EEFTE 1 RS 2
RBEA - =
MEIER (FhBrH) m 16,281 iSEE —BiEIFHAS IR | &P 0.0 SERISH 0
=
MEADO A 2,928 % o | DBIFY TIHEER BT 0 ERE 0
’ BFEEZ [
R pev—— B _sremmaries| s LR SERAN
gz ki = kl 1,811 BPBFFES IR | &P 0.0 = 0
IR NEBAO x 28,183 s s | DEVALIRGE ey 0 ’ B 2
CH = FFER1Z
ERIINEE ) 8,164 Toh | _mEmEa e | s 0.0 SEREY 0
HENE A 0 = \EHt 1ERIEEE | A TIiEER ERE 0 EPIE 1
[GEYSE] g RPN TJ=
—BEHESE | A 0 & R=L | —EBISASIINER | B 0.0 SEREH 0
EKEF [#6KAD -
==y ORVE T E By ~ — B
BRIk HENE A 29 SEEA TREIAN TIHEER ERE 0 RELVH EPIE 1
AT —
BHIEE | _memman| o 0 b e g | E 0.0 BEOR B 0
REHORAD | A 26,701 P REMSR | IR (SR 0 BROR SEBSHY 0
SENth5x
SEHKREERE | of 8,695,000 BEfeER | HEIN IR RN 0 . ERE 34
X T — — =S5
REFKRABE | of 7,754,400 s $HE | HEINIIMER ELE 0 LEE 2,981
e e
STERRLBR | ) 1 e v [EEIENRAV i RN 0 ity (i 715,586
S FREE
TKBE | AHTKE IRTERRAMBIB | (57T 1 B GEER) 132,943
NEYE
HBWERSESE | nf 8,695,000 ti CisFg) 2,317,537
REMERSESE | o 7,754,400 Y GEERD 126
FENEREAAD | A 26,701 . THRSRES Tt (bF&) 0
WEKHEARERAD | A 22,143 ZFOMOES Tith () 0




